202G 2P KT

gz s 56T
BB 7
EE
4 EFE#HEEFE No 1 ZHHER | E64F | BEMES EBE
GEE27T 4023 F 1HEID (S 274026 5 1 HEIC
£S5 BED) E5RES %’ [~ 4 26679
Eﬁiﬂ#gﬁﬁﬁ _(‘ "“3\
RAREAR: HRSH Uvrya  RWEHE (PE Y (?"?.ﬁ:f-_;__a WERBRER TR 14768200
HERR T P "M\Q— R 1446 A 26 ARM
AIEFEH © T100-0005 HORAETHERER /K1 A8 \B\\
I3 BEZ\
B1 RNHFICHET SEE /F'j}%
1 mireit | ;_;(fM.G.'ZE )i
L \F 3/
PN iy | 43584 B/RE 1,3
ﬁ e ;q)— A —F 1 —x = B ‘):’é}
o M1 b @TER
s g IX 1 B 2xR 3EHE 4 FAR " M EF R O
R SF|  5wE 6 sRREEoRYE| L &
_ " ) %1, # %
A E R E | EFREATRFEE 115 Fi 7 H ¥ iz @. oM
2 EHE (KEREE)
¥ 1 fan
® #A (@ HR2tt 2 HIBEH 3 2o ( )
AUED IR B 2N B SR B I VAR ¢ 2 2 S AR |
EHhXRAEE BREE Pryrao
AEREESEEER. Nxagtgar semoF
B X i
BRI AR P T 2 T100-0005 RE#HTRERAL/ N1 -8-2 H_EHEEAL
EEREECEEER.
B K 4 X 134 %
EEREECEEER
(B3R Lk A5 A E e
WEAR  48F 4 H b H R W b7 .
B xims omm : " » s,
orr  amm ReH A P 59 L&
A
TEEANA BEE
BEELFOEKER ., _ _ .
BN E s R MEIA—TF T 1Y &7 B
EEEE 03 (65223) 7533
3EHEM
BIE (RETRENTRE LEKE%)

B—SR (1)




Bs—HEA (2)
ﬁ g f G 2 4345 B / # = 2,3
?ﬁf(iggﬁfﬁ Bkot Urva
4 _FEEHEOCFRAKRSZFEONR
2740 23 3TEAX THEDBEIES 1S |2THROBEIEHE2 S
B & 146.67 ¥ B 582.69
w % 8 = ¥ L F|A H
OB 3 % ¥ FE #1|B I
& # # # #|C J
W OB 35 % ¥ ff # & #|D K
HEBEHEMATEIA -} VI E L
B % W # fE H
¥ % B # W O & OF|TF M
X B H i B OF KB ®|G N
A #F10 146.67 # | P | Q 582.65 H
R e smsson® % omuronose |0 5% #
@
{%( %ﬁ+%P%+®é& (_%R#C)) 3 729.36 é ?52 ﬁ E; ; £ 13.60 %
(S/(T+U)x100)
B A B E K X O | oy | |EMoEEECEE w71 %
(A+B+CHAD+EAF+O+HAT+HI+HRATAM+N) EhkHsESERERE
5 MEEBRESORITE ORIT I IEESICET 2 BT 60 B B OBE Ty ORI
i A H i #% £ % o # 5 |& B R B X T n o B i
ERE144E 6 B 18 H Bk 50 ¥k ¥ o1 HBE Ok
E 144 6 A10 A BRI 3 Bk 1 BB @0y
TR 144 6 B20H S Bl L7 =W 7 Bk ¥ 1 mE Oy
% 1 05 2 L4y
¥ 1 BE 24y
¥ 1 HE 2 sy
¥ 1 BB 205
¥ o1 HE 24y
¥ 1 Hug 2 44y
® o1 BE 245y
¥ 1 IE 2 Mgy
1 EBE/ 24y
1 BB 24y
¥ o1 W 2ask
% 1 W 245
¥ 1 BB 2 sy
¥ 1 e 24w
¥ 1 mE 24w
¥ 1 mEg  24n

B2




i
Jn
P
g

| €

Hb> o
i
b

B

)
K

4345

B/#E 3,3

RHA(KBERAFH)D
E & X T 4 %

A Vyv=

6 MHMSEICRT SRS EE NN

ﬂ#ﬁﬁ&%m%&m3%3%%2%®ﬁ#%®ﬁd\%ﬁﬁﬁﬁﬁﬁﬁﬁéﬁﬁéEﬁﬁéwﬁﬂﬁf%&

7 _RERHEEORBES
(1) BBESOAR

BoESE (FM) R 182, 089 BEAEHEH? (FA) | S 0
TOM (RIEMIZ)
HUBEL L
LTOMERH FA) | T 0
%RTS%T%FEE? 162, 089
(2) EALDRR
B % V) eVl A )]
= PR ER) B KEERE FTTEH EAEH E£H(TFH)
1 MUEERZ L KL 2
2 ¥1 o2
3 1 2
4 12
5 1 2
6 ¥1 2
7 1 o2
8 ¥1 2
9 12
10 1 2

FE—EHR (3)




